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1. jkds'k 10 km mÙkj dh vksj pyus ds i'pkr

6 km nf{k.k dh vksj pyrk gS] fQj 3 km dh

nwjh iwoZ fn'kk dh vksj pyrk gS rks og izkjfEHkd

fcUnq ls fdruh nwjh ij gSA

(a) 4 km (b) 3 km
(c) 5 km (d) 6 km

2. vaxzsth o.kZekyk esa ck¡;sa ls 11 ok¡ v{kj ds ck¡;sa

pkSFkk v{kj dkSulk gksxk \

(a) K (b) P

(c) G (d) R

3. fuEu vkd`fr esa f=Hkqtksa dh dqy la[;k gSA

(a) 5 (b) 7
(c) 8 (d) 6

4. dkWxzsl ds fdl vf/kos'ku esa iw.kZ LojkT; dh

ek¡x dks Lohdkjk x;k\

(a) ukxiqj vf/kos'ku

(b) djkph vf/kos'ku

(c) ykgkSj vf/kos'ku

(d) cEcbZ vf/kos'ku

5. fjaMjisLV ¼eos'kh Iysx½ uked chekjh dk laca/k

fdl ns'k ls gS\

(a) phu (b) Hkkjr

(c) vfÝdk (d) Jhyadk

6. fj;ks&Mh tsusjksa ìFoh lEesyu dc gqvk Fkk\

(a) 1990 bZ- (b) 1991 bZ-

(c) 1992 bZ- (d) 1993 bZ-

7. ljdkj }kjk vojks/kksa vFkok izfrca/kksa dks gVkus

dh izfØ;k D;k dgykrh gS\

(a) oS'ohdj.k (b) mnkjhdj.k

(c) futhdj.k (d) O;kikj vojks/k

8. fuEu esa ls dkSulk fo"k; leorhZ lwph esa 'kkfey

gS\

(a) iqfyl (b) f'k{kk

(c) j{kk (d) d̀f"k

1. Rakesh walks 10 km northwards, then

walks 6 km southwards, then walks 3 km

eastwards. How far is he from his starting

point?

(a) 4 km (b) 3 km

(c) 5 km (d) 6 km

2. Which letter in the English alphabet will be 4th

to the left of 11th letter from the left?

(a) K (b) P

(c) G (d) R

3. The total number of triangles in the following

figure is

(a) 5 (b) 7

(c) 8 (d) 6

4. In which session of the Congress was the

demand for Poorna Swaraj accepted?

(a) Nagpur Session

(b) Karachi Session

(c) Lahore Session

(d) Bombay Session

5. Rinderpest (cattle plague) disease is associated

with which country?

(a) China (b) India

(c) Africa (d) Sri Lanka

6. When was the Rio-de-Janeiro Earth Summit

held?

(a) 1990 AD (b) 1991 AD

(c) 1992 AD (d) 1993 AD

7. What is the process of removing barriers or

restrictions by the government called?

(a) Globalization (b) Liberalization

(c) Privatization (d) Trade barriers

8. Which of the following subject is included in

the Concurrent List?

(a) Police (b) Education

(c) Defence (d) Agriculture
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9. ^^ljnkj ljksoj ck¡/k ifj;kstuk^^ fdl unh ij

fLFkr gSA

(a) lryt unh (b) ueZnk unh

(c) nkeksnj unh (d) xaxk unh

10. ^^rkjkiqj vkf.od ÅtkZ la;a=^^ fLFkr gSA

(a) e/; izns'k (b) mÙkj izns'k

(c) egkjk"Vª (d) jktLFkku

11- fuEufyf[kr esa ls fdlesa çkjafHkd inkFkks± dh

igpku vifjoÆrr jgrh gSA

(a) nwèk dk ngh cuuk

(b) fØLVyhdj.k dh çfØ;k }kjk fØLVy dk

fuekZ.k

(c) vaxwj dk fd.ouA

(d) Hkkstu dk ikpuA

12- fuEufyf[kr esa ls dkSu lh m"ek{ksih çfØ;k,¡

gSaA

(a) ikuh dh fcuk cq>s pwus ds lkFk vfHkfØ;kA

(b) vEy dk ruqdj.kA

(c) ikuh dk ok"ihdj.kA

(d) diwj ¼fØLVy½ dk mèoZikruA
(a) (i)  and (ii)

(b) (ii) and (iii)

(c) (i) and (iv)

(d) (iii) and (iv)

13- tc dksÃ {kkj fdlh èkkrq ds lkFk vfHkfØ;k

djrk gS] rks og yo.k cukrk gS] vkSj gkbMªkstu

xSl fudyrh gS] gkbMªkstu dh mifLFkfr dk

irk fdl fofèk ls yxk;k tk ldrk gSA

(a) ikuh ls

(b) fyVel isij ls

(c) esfFky v‚jsat ls

(d) tyrh gqÃ eksecÙkh ls

14. CH
3
COOC

2
H

5 
dk IUPAC uke crkb,A

(a) ,fFky ,Fksuksbd vEy

(b) C;wVsuks,V

(c) ,fFky ,Fksuks,V

(d) ,fFky esfFky dkcksZfDlfyd vEy

9. On which river is the “Sardar Sarovar Dam

Project” situated?

(a) Sutlej River (b) Narmada River

(c) Damodar River (d) Ganga River

10. "Tarapur Atomic Power Plant” is situated in:

(a) Madhya Pradesh (b) Uttar Pradesh

(c) Maharashtra (d) Rajasthan

11. In which of the following, the identity of initial

substances remains unchanged.

(a) Curding of milk

(b) Formation of crystals by process of

crystallisation

(c) Fermentation of grapes.

(d) Digestion of food.

12. Which of the following are exothermic

processes.

(i) The reaction of water with quick lime.

(ii) Dilution of acid.

(iii) Evaporation of water.

(iv) Sublimation of camphor (crystals).

(a) (i)  and (ii)

(b) (ii) and (iii)

(c) (i) and (iv)

(d) (iii) and (iv)

13. When a base reacts with a metal, it forms a

salt, and hydrogen gas is released, By what

method can the presence of hydrogen be

detected.

(a) by water

(b) by litmus paper

(c) by methyl orange

(d) by a burning candle

14. Give the IUPAC name of CH
3
COOC

2
H

5.

(a) Ethyl ethanoic acid

(b) Butanoate

(c) Ethyl ethanoate

(d) Ethyl methyl carboxylic acid
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15. Match the chemical substances given in column

(A) with their appropriate application given
column (B)

Column - I Column - II
(A) Bleaching powder (i) Preparation of glass
(B) Baking soda (ii) Production of H

2

     and Cl
2

(C) Washing soda (iii) Decolouration
(D) Sodium chloride (iv) Antacid
(a)  A-(ii), B-(i), C-(iv), D-(iii)
(b) A-(iii), B-(ii), C-(iv), D-(i)
(c) A-(iii), B-(iv), C-(i), D-(ii)
(d) A-(ii), B-(iv), C-(i), D-(iii)

16. Which of the following statements about the

given reaction are correct.

3Fe(s) + 4H
2
O(l) Fe

2
O

4
(s)+4H

2
(g)

(i) Iron metal is getting oxidised.

(ii) Water is getting reduced.

(iii) Water is acting as a reducing agent.

(iv) Water is acting as an oxidising agent.

(a) (i), (ii) and (iii) (b) (iii) and (iv)

(c) (i), (ii) and (iv) (d) (ii) and (iv)

17. The following image represents a carbon

compound.

O 

C 

CH3CH3

which functional group is present in the

compound?

(a) Alcohol (b) Aldehyde

(c) Carboxyllic acid (d) Ketone

18. The reactivities of iron, magnesium, sodium and

zinc towards water are in the following order:-

(a) Fe > Mg > Na > Zn

(b) Zn > Na > Mg > Fe

(c) Na > Mg > Zn > Fe

(d) Mg > Na > Fe > Zn

15- d‚ye esa fn, x, jklk;fud inkFkks± dk feyku
djsaA (A) fn, x, d‚ye (B) muds mfpr
vuqç;ksx ds lkFk
d‚ye & A d‚ye & B

(A) CyhÇpx ikmMj (i) dkap rS;kj djuk
(B) csÇdx lksMk (ii) H

2
 vkSj Cl

2
 dk

mRiknu
(C) okÇ'kx lksMk (iii) jax gVkuk
(D) lksfM;e DyksjkbM (iv) ,aVkflM
(a)  A-(ii), B-(i), C-(iv), D-(iii)
(b) A-(iii), B-(ii), C-(iv), D-(i)
(c) A-(iii), B-(iv), C-(i), D-(ii)
(d) A-(ii), B-(iv), C-(i), D-(iii)

16- nh xÃ vfHkfØ;k ds ckjs esa fuEufyf[kr esa ls
dkSu lk dFku lgh gSA

3Fe(s) + 4H
2
O(l) Fe

2
O

4
(s)+4H

2
(g)

(i) ykSg èkkrq dk v‚Dlhdj.k gks jgk gSA
(ii) ty dk vip;u gks jgk gSA
(iii) ty vipk;d ds :i esa dk;Z dj jgk gSA
(iv) ty v‚Dlhdkjd ds :i esa dk;Z dj jgk

gSA
(a) (i), (ii) and (iii) (b) (iii) and (iv)

(c) (i), (ii) and (iv) (d) (ii) and (iv)

17- fuEufyf[kr Nfo ,d dkcZu ;kSfxd dks n'kkZrh

gSA

O 

C 

CH3CH3

;kSfxd esa dkSulk izdk;kZRed lewg mifLFkr

gS\

(a) ,Ydksgy (b) ,fYMgkbM

(c) dkcksZfDlfyd vEy (d) dhVksu

18. yksgk] eSXuhf'k;e] lksfM;e vkSj Çtd dh ty

ds çfr vfHkfØ;k'khyrk fuEu Øe esa gS%&

(a) yksgk > eSXuhf'k;e > lksfM;e  > Çtd

(b) ftad > lksfM;e > eSXuhf'k;e  > yksgk

(c) lksfM;e > eSXuhf'k;e > Çtd > yksgk

(d) eSXuhf'k;e > lksfM;e  > yksgk > Çtd
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19. Photosynthesis is a ____ process.

(a) breaking up (b) catabolic

(c) anabolic (d) none of these

20. Spinal cord originates from -

(a) cerebrum (b) medulla

(c) pons (d) cerebellum

21. After fertilization name the part which develop

into the seeds -

(a) ovary (b) ovule

(c) pollen grain (d) None of these

22. The correct sequence of reproductive stagecs

seen in flowering plant is.

(a) gemetes, zygote, embryo, seedling.

(b) zygote, gametes, embryo, seedling.

(c) seedling, embryo, zygote, gamete.

(d) gametes, embryo, zygote, seedling.

23. Genetically identical twins are produced in ___

reproduction.

(a) Asexual (b) Sexual

(c) Homogamy (d) Heterogamy

24. Which species depend on temperature to

determine the sex of newborn indivduals.

(a) Humans (b) Snails

(c) Reptiles (d) None of  these

25. In humans, if gene 'B' gives brown eyes and

gene 'b'  given blue eyes, what will be the colour

of the eyes of the person having combination

(i) Bb (ii) BB

(a) (i) Brown (ii) Brown

(b) (i) Blue (ii) Blue

(c) (i) Blue (ii) Brown

(d) (i) Brown (ii) Blue

26. Magnifying power of a concave lens is ___.

(a) always >1

(b) always <1

(c) always =1

(d) can have any value

19. çdk'k la'ys"k.k ,d ---------------- çfØ;k gSA

(a) VwVuk (b) vip;

(c) mip; (d) buesa ls dksÃ ugÈ

20. jh<+ dh gìh dh mRifÙk gksrh gS &

(a) çefLr"d (b) eTtk

(c) iksal (d) vuqefLr"d

21. fu"kspu ds ckn ml Hkkx dk uke crkb, tks

cht esa fodflr gksrk gS &

(a) vaMk'k; (b) chtkaM

(c) ijkxd.k (d) buesa ls dksÃ ugÈ

22. iq"ih; ikniksa esa ns[kh tkus okyh çtuu voLFkkvksa

dk lgh Øe gSA

(a) ;qXed] ;qXeut] Hkzw.k] vadqj

(b) ;qXeut] ;qXed] Hkzw.k] vadqj

(c) vadqj] Hkzw.k] ;qXeut] ;qXed

(d) ;qXed] Hkzw.k] ;qXeut] vadqj

23. vkuqoaf'kd :i ls leku tqM+ok¡ cPps -----------

çtuu esa mRiUu gksrs gSaA

(a) vySafxd (b) ySafxd

(c) leÇyxh (d) fo"keÇyxh

24. dkSulh çtkfr uotkr O;fä;ksa ds Çyx dk fuèkkZj.k

djus ds fy, rkieku ij fuHkZj djrh gSA

(a) euq"; (b) ?kksa?kk

(c) ljhl̀i (d) dksÃ ugÈ

25. euq";ksa esa] ;fn thu 'B' Hkwjh vk¡[ksa nsrk gS vkSj

thu 'b' uhyh vk¡[ksa nsrk gS] rks la;kstu okys

O;fä dh vk¡[kksa dk jax D;k gksxk

(i) Bb (ii) BB

(a) (i) Hkwjk (ii) Hkwjk

(b) (i) uhyk (ii) uhyk

(c) (i) uhyk (ii) Hkwjk

(d) (i) Hkwjk (ii) uhyk

26. vory ysal dh vkoèkZu 'kfä &&& gSA

(a) ges'kk >1

(b) ges'kk < 1

(c) ges'kk =1

(d) dk dksÃ Hkh eku gks ldrk gS
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27. An object is put at a distance of 5cm from the

first focus of convex lens of focal length 10cm.
If a real image is formed, its distance from the

lens will be.

(a) 15cm (b) 20cm

(c) 25cm (d) 30cm

28. The persistence of vision for human eye is _.

(a) 1/10th part of a second

(b) 1/16th part of a second
(c) 1/6th part of a second
(d) 1/18th part of a second

29. The phenomena of light responsible for the

vision of human eye is __.

(a) Reflection

(b) Refraction

(c) Power of accommodation

(d) Persistence of vision

30. A cell, a resistor, a key and an ammeter are

arranged as shown in the circuit diagrams. The
current recorded in the ammeter will be :-

A+ - +-

RK

+ -
R

K

A
+

-

A +-

R K
+-

(i) (ii) (iii)
(a) Max. in (i)

(b) Max. in (ii)

(c) Max. in (iii)

(d) Same in all cases

31. In electric iron draws a current of 4A when

connected to a 220 V mains. Its resistance

must be :-

(a) 40  (b) 55 

(c) 100  (d) None of these

32. In series combination, resistance increases due

to increase in ___.

(a) Radius of wire

(b) Humidity

(c) Length

(d) Area of cross-section

27. fdlh oLrq dks 10 lseh Qksdl nwjh okys mÙky
ysal ds çFke Qksdl ls 5 lseh dh nwjh ij j[kk
tkrk gSA ;fn okLrfod çfrfcEc curk gS] rks
ysal ls bldh nwjh gksxhA
(a) 15 lseh (b) 20 lseh
(c) 25 lseh (d) 30 lseh

28. ekuo us= ds fy, –f"V dh –<+rk & gSA

(a) ,d lsdaM dk 1@10ok¡ Hkkx

(b) ,d lsdaM dk 1@16ok¡ Hkkx

(c) ,d lsdaM dk 1@6ok¡ Hkkx

(d) ,d lsdaM dk 1@18ok¡ Hkkx
29. ekuo us= dh –f"V ds fy, mÙkjnk;h çdk'k dh

?kVuk--------------gSA
(a) ijkorZu
(b) viorZu
(c)  lek;kstu 'kfä
(d)  –f"V dh –<+rk

30. ,d lsy] ,d çfrjksèkd] ,d dqath vkSj ,d ,ehVj

dks lÆdV vkjs[k esa fn[kk, vuqlkj O;ofLFkr

fd;k x;k gSA ,ehVj esa ntZ èkkjk gksxh&

A+ - +-

RK

+ -
R

K

A
+

-

A +-

R K
+-

(i) (ii) (iii)
(a)  (i) esa vf/kdre

(b) (ii) esa vf/kdre

(c)  (iii) esa vf/kdre

(d)  lHkh esa leku

31. fo|qr bL=h 220V esUl ls tqM+us ij 4A èkkjk

[kÈprh gSA bldk çfrjksèk gksuk pkfg,%&

(a) 40  (b) 55 

(c) 100  (d) buesa ls dksÃ ugÈ

32. Js.kh la;kstu esa] çfrjksèk---------------esa òf) ds dkj.k

c<+rk gSA

(a) rkj dh f=T;k

(b) vkæZrk

(c) yackÃ

(d) vuqçLFk dkV dk {ks=Qy
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33. Match the column.

Column - I Column - II
(A) Electric power (i) Webar
(B) Electric potential (ii) Watt
(C) Electric current (iii) Volt

(D) Electric flux (iv) Ampere

(a) A-(ii), B-(iii), C-(iv), D-(i)

(b) A-(iii), B-(iv), C-(i), D-(ii)
(c) A-(iii), B-(i), C-(iv), D-(ii)
(d) A-(iii), B-(iv), C-(i), D-(ii)

34. The unit of magnetic field is ___.

(a) Oersted (b) Tesla

(c) Ampere (d) Volt

35. In a food chain, the third trophic level is always

occupied by :-

(a) Carnivores (b) Herbivores

(c) Decomposers (d) Producers

36. Heating limestone produces ___.

(a) Baking Soda (b) Slaked Lime

(c) Quick Lime (d) Lime Water

37. Which one of the following is a medicine for

indigestion.

(a) Sodium hydroxide

(b) Magnesium hydroxide
(c) Manganese hydroxide

(d) Potassium hydroxide

38. Which catalyst is used in hydrogenation of

vegetable oil.

(a) Iron (b) Magnesium

(c) Chromium (d) Nickel

39. Enzyme that digests fat is -

(a) Lipase (b) Pepsin

(c) Amylase (d) Renin

40. What is called Bio-catalyst.

(a) Hormone (b) Enzyme

(c) Reactant (d) Vitamin

41. The secretion of endocrine gland is called__.

(a) Pheromones (b) Enzyme

(c) Hormones (d) Mucus

33. d‚ye dk feyku djsaA
Column - I Column - II

(A) fo|qr 'kfä (i) oscj
(B) fo|qr foHko (ii) okV
(C) fo|qr èkkjk (iii) oksYV
(D) fo|qr ¶yDl (iv) ,fEi;j
(a) A-(ii), B-(iii), C-(iv), D-(i)
(b) A-(iii), B-(iv), C-(i), D-(ii)
(c) A-(iii), B-(i), C-(iv), D-(ii)

(d) A-(iii), B-(iv), C-(i), D-(ii)

34. pqacdh; {ks= dh bdkÃ &&& gSA

(a) vksLVsZM (b) VsLyk

(c) ,Eih;j (d) oksYV

35. [kk| J̀a[kyk esa] rhljs iks"kh Lrj ij ges'kk dkSu

jgrk gS%&

(a) ekalkgkjh (b) 'kkdkgkjh

(c) vi?kVd (d) mRiknd

36. pwuk iRFkj dks xeZ djus ij &&& curk gSA

(a) ehBk lksMk (b) cq>k gqvk pwuk

(c) fcuk cq>k pwuk (d) pwus dk ikuh

37. fuEufyf[kr esa ls dkSulh vip dh nok gSA

(a) lksfM;e gkbMª‚DlkbM

(b) eSXuhf'k;e gkbMª‚DlkbM

(c) eSaxuht gkbMª‚DlkbM

(d) iksVsf'k;e gkbMª‚DlkbM

38. ouLifr rsy ds gkbMªkstuhdj.k esa fdl mRçsjd

dk mi;ksx fd;k tkrk gSA

(a) vk;ju (b) eSXuhf'k;e

(c) Øksfe;e (d) fudy

39. olk dks ipkus okyk ,atkbe gS &

(a) ykbisl (b) isfIlu

(c) ,ekbyst (d) jsfuu

40. tSo&mRizsjd fdls dgrs gSa\

(a) gkeksZu (b) ,atkbe

(c) vfHkdkjd (d) foVkfeu

41. var%lzkoh xzafFk ds lzko dks-------------dgk tkrk gSA

(a) Qsjkseksu (b) ,atkbe

(c) gkeksZu (d) 'ys"ek
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42. If an ecosystem is composed of only three

trophic levels then how much energy will be

conserved at the 3rd trophic level ___.

(a) 30% (b) 20%

(c) 10% (d) 1%

43. Syphilis which a STD is caused by ___.

(a) Virus (b) Fungus

(c) Bacteria (d) Mycoplasma

44. CH
3
COOH + CH

3
 - CH

2
OH Acid[A] +

H
2
O Compund [A] in above reaction is __.

(a) CH
3
-CH

2
-O-CH

2
-CH

3

(b) CH
3
-CH

2
-COOCH

3

(c) H-C-O-CH-CH -CH2 2 3

O

 

(d) CH -C-O-CH -CH3 2 3

O

45. In the given circuit the equivalent resistance

between A and B is :-

A
1Ω 6Ω

6Ω

3Ω

6Ω
B

(a) 2 (b) 6

(c) 9 (d) 12

46. The HCF of two numbers 616 and 32 is-

(a) 6 (b) 8

(c) 16 (d) 32

47. If the LCM (x, 18)=36 and HCF (x, 18)=2

than the value of x will be-

(a) 2 (b) 3

(c) 4 (d) 6

48. If the sum of the zeroes of polynomial
kx2 + 5x + 3k is equal to their product, then

the value of  k will be-

(a)
3

5
(b)

5

3



(c)
3

5


(d)

5

3

42. ;fn dksÃ ikfjfLFkfrdh ra= dsoy rhu iks"kh

Lrjksa ls cuk gS] rks rhljs iks"kh Lrj ij fdruh

ÅtkZ lajf{kr gksxh &&&-
(a) 30% (b) 20%

(c) 10% (d) 1%

43- flfQfyl tks ,d STD gS]--------------ds dkj.k
gksrk gSA
(a) ok;jl (b) dod
(c) cSDVhfj;k (d) ekbdksIykTek

44- CH
3
COOH + CH

3
 - CH

2
OH Acid[A] +

H
2
O mijksä çfrfØ;k esa ;kSfxd [A]........gSA

(a) CH
3
-CH

2
-O-CH

2
-CH

3

(b) CH
3
-CH

2
-COOCH

3

(c) H-C-O-CH-CH -CH2 2 3

O

(d) CH -C-O-CH -CH3 2 3

O

45. fn, x, ifjiFk esa A  vkSj B ds chp rqY;

çfrjksèk gS%&

A
1Ω 6Ω

6Ω

3Ω

6Ω
B

(a) 2 (b) 6

(c) 9 (d) 12

46. nks la[;kvks 616 o 32 dk egÙke lekorZd

(HCF) gSA
(a) 6 (b) 8

(c) 16 (d) 32

47. ;fn LCM (x, 18)=36 rFkk HCF (x, 18)=2

gks rks x dk eku gksxkA
(a) 2 (b) 3

(c) 4 (d) 6

48. f}|kr cgqin kx2 + 5x + 3k
 
ds 'kqU;kdksa dk

;ksx o xq.kuQy cjkcj gS rks k dk eku gksxkA

(a)
3

5
(b)

5

3



(c)
3

5


(d)

5

3



9Satyam Public School, RanoliS-SAT-2025 | 13.04.2025

49. cgqin x2-5
 
ds 'kqU;kdks dk xq.kuQy gSA

(a) 5 (b) -5

(c) 5 (d) 0

50. k ds fdl eku ds fy, fuEu jSf[kd lehdj.k

ds ;qXe dk dksbZ gy ugha gSA

   3x + y = 1 ;   (2k-1)x + y = k + 1

(a) 2 (b) 1

(c) 3 (d) 4

51. f}?kkr lehdj.k 23 2 6 2 0x x    ds

fofoDrdj dk eku gSA

(a) 12 (b) -12

(c) 18 (d) 0

52. AP : 2, 8, 18, 32 ,....dk lkoZ vUrj gSA

(a) 8 (b) 2

(c) 18 (d) 32

53. 3 o 101 ds e/; 5 ls foHkkftr gksus okyh lHkh

izkdr̀ la[;kvksa dk ;ksxQy gSA

(a) 1060 (b) 2550

(c) 1050 (d) 3050

54. lyaXu vkd`fr esa ;fn DE || BC gS rks AC dk

eku gksxkA
A

B C

ED

1.3m

1.
5m

3m

(a) 2.6m (b) 5.2m

(c) 3.9m (d) 6.2m

55. nks m/okZ/kj [kEHkksa dh Å¡pkbZ Øe'k% 6m o 11m

gS rFkk [kEHkksa ds fupys fljksa dh nwjh 12m gks

rks [kEHkksa ds mijh fljksa ds chp dh nwjh gksxhA

(a) 17m (b) 11m

(c) 12m (d) 13m

56. fcUnqvksa A(x+4, y+5) o B(6-x, 3-y) dks feykus

okys js[kk[k.M ds e/; fcUnq ds funsZ'kkad gSA

(a) (4, 3) (b) (5, 4)

(c) (4, 7) (d) (3, 4)

49. The product of the zeroes of polynomial x2-5

is -
(a) 5 (b) -5

(c) 5 (d) 0

50. For what value of  k, the following pair of

equations has no solution ?

   3x + y = 1 ;   (2k-1)x + y = k + 1

(a) 2 (b) 1

(c) 3 (d) 4
51. Discriminant of quadriatic equation

23 2 6 2 0x x    is :-

(a) 12 (b) -12

(c) 18 (d) 0
52. The common difference of AP:

2 , 8 , 18 , 32 , .... is :-

(a) 8 (b) 2

(c) 18 (d) 32
53. The sum of natural numbers divisible by 5

between 3 and 101 is -

(a) 1060 (b) 2550

(c) 1050 (d) 3050
54. In the given figure, if DE || BC, then the value

of AC will be -

A

B C

ED

1.3m

1.
5m

3m

(a) 2.6m (b) 5.2m

(c) 3.9m (d) 6.2m
55. The heights of two vertical poles are  6m and

11m respectively and the distance between the
foot of the poles is 12m, then the distance

between the top of the poles will be-

(a) 17m (b) 11m

(c) 12m (d) 13m
56. The coordinate of the midpoint of the line

segment joining the points A(x+4, y+5) and
B(6-x, 3-y) are :-
(a) (4, 3) (b) (5, 4)
(c) (4, 7) (d) (3, 4)
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57. fcUnq P (5, 4) dh x - v{k ls nwjh gS\

(a) 5 (b) 0

(c) 4 (d) 16

58. tan2600 + 3cos2300 dk eku gS&

(a)
20

7
(b)

11

4

(c)
21

4
(d)

10

3

59.
0

2 0

2 tan 30

1 tan 30
 dk eku gS&

(a)
1

3
(b)

3

1

(c) 3 (d)
1

2

60. ;fn sin3x = 1 gks rks x dk eku gS&

(a) 600 (b) 300

(c) 450 (d) 900

61. ,d ehukj dh Å¡pkbZ bldh Nk;k dh 3  xquh

gS rks lw;Z dk mUurka'k dks.k gS&

(a) 300 (b) 450

(c) 750 (d) 600

62. ,d irax Hkwfe ls 75 m dh Å¡pkbZ ij mM+ jgh

gSA ftlds /kkxs dk Hkwfe ds lkFk >qdko 600 gks

rks /kkxs dh yEckbZ gksxh&

(a) 75 3 m (b) 150 3 m

(c) 50 3 m (d) 300 3 m

63. 30m Å¡ph ehukj ds f'k[kj ls ìFoh ij ,d

fcUnq dk voueu dks.k 600 gSA fcUnq dh ehukj

ds ikn ls nwjh gksxh&

(a) 10 3m (b) 15 3m

(c) 60 m (d) 30m

64. 6m Å¡ps ,d [kEHks dh Nk;k 2 3myEch gS rks

lw;Z dk mUurka'k dks.k gksxk&

(a) 300 (b) 450

(c) 600 (d) 900

57. The distance of the point P (5, 4) from x -axis
is -
(a) 5 (b) 0
(c) 4 (d) 16

58. The value of tan2600 + 3cos2300 is -

(a)
20

7
(b)

11

4

(c)
21

4
(d)

10

3

59. The value of 
0

2 0

2 tan 30

1 tan 30
 is -

(a)
1

3
(b)

3

1

(c) 3 (d)
1

2

60. If sin3x = 1, then the value of x is -

(a) 600 (b) 300

(c) 450 (d) 900

61. If the height of a building is 3 times its shadow

then the angle of elevation of the sun is :

(a) 300 (b) 450

(c) 750 (d) 600

62. A kite is flying at a height 75m from the ground.

If the inclination of the string with the ground

600  , then the length of the string will be-

(a) 75 3 m (b) 150 3 m

(c) 50 3 m (d) 300 3 m

63. The angle of depression of a point on the earth
from the top of a 30m tall building is 600, The
distance of the point from the foot of the

building will be-

(a) 10 3m (b) 15 3m
(c) 60 m (d) 30m

64. If the shadow of a pole of height 6m is 2 3m,

then the angle of elevation of the sun is:

(a) 300 (b) 450

(c) 600 (d) 900
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65. ,d fcUnq P ls O dsUnz okys o`r ij PA o PB

Li'kZ js[kk,¡ ijLij 800 dks.k ij >qdh gks rks

POA  dk eku gS&

(a) 500 (b) 600

(c) 800 (d) 700

66. ,d or̀ dh ifjf/k ij fdruh Li'kZ js[kk,¡ [khaph

tk ldrh gS&

(a) ,d (b) rhu

(c) nks (d) vuUr

67. ,d ?kM+h dh feuV dh lqbZ }kjk 20 feuV esa

dsUnz ij vUrfjr dks.k dk eku gS&

(a) 1500 (b) 1800

(c) 1200 (d) 600

68. ,d òr ds nh?kZ f=T;k[k.M dk dks.k 2500 gS

rks y?kq f=T;k[k.M dk dks.k dk eku gksxk&

(a) 300 (b) 1100

(c) 1500 (d) 900

69. 21cm f=T;k okys òr dk pki dsUnz ij 600 dk

dks.k vUrfjr djrk gS rks pki dh yEckbZ gksxh

22
π

7
  
 

(a) 21 cm (b) 22 cm

(c) 44 cm (d) 231cm

70. 14 cm f=T;k okys òr ds prqFkkZa'k dk {ks=Qy

gS&

(a) 154cm2 (b) 254cm2

(c) 22cm2 (d) 164cm2

71. ,d 'kadq dh fr;Zd Å¡pkbZ 5cm o Å¡pkbZ 4cm

gks rks 'kadq ds vk/kkj dk O;kl dk eku gS&

(a) 3cm (b) 6cm

(c) 9cm (d) 2cm

72. ,d 'kadq dh f=T;k 2.5cm rFkk Å¡pkbZ 6 cm gks

rks 'kadq dh fr;Zd Å¡pkbZ dk eku gS&

(a) 3.5cm (b) 4.5cm

(c) 8.5cm (d) 6.5cm

73. ?ku ds ,d ì"B dk ifjeki 28cm gS rks ?ku dk
vk;ru gS&
(a) 143cm3 (b) 343cm3

(c) 216cm3 (d) 125cm3

65. If tangents PA and PB from a point P to a circle
with centre O are inclined to each other at angle

of 800, then POA  is equal to-

(a) 500 (b) 600

(c) 800 (d) 700

66. How many tangents can be drawn on the

circumference of a circle?

(a) 1 (b) 3

(c) 2 (d) infinite
67. The value of the angle subtended by the

minute hand of a clock at the centre in 20
minutes is-

(a) 1500 (b) 1800

(c) 1200 (d) 600

68. If the angle of the major sector of a circle is
2500 then the value of the angle of the minor
sector will be-

(a) 300 (b) 1100

(c) 1500 (d) 900

69. In a circle of radius 21cm, an arc subtends an
angle of 600 at the centre, then the length of
the arc will be-

22
π

7
  
 
(a) 21 cm (b) 22 cm
(c) 44 cm (d) 231cm

70. The area of a quadrant of a circle of radius 14
cm is:-

(a) 154cm2 (b) 254cm2

(c) 22cm2 (d) 164cm2

71. If the slant height of a cone is 5 cm and its
height is 4 cm then the value of the diameter of
the base of the cone is:

(a) 3cm (b) 6cm
(c) 9cm (d) 2cm

72. If the radius of a cone is 2.5 cm and its height
is 6cm, then the value of the slant height of the
cone is:

(a) 3.5cm (b) 4.5cm

(c) 8.5cm (d) 6.5cm
73. If the perimeter of one surface of the cube is

28 cm then the volume of the cube is:

(a) 143cm3 (b) 343cm3

(c) 216cm3 (d) 125cm3
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74. izFke N% fo"ke izkd`r la[;kvksa dk ek/; gS&

(a) 7 (b) 6
(c) 8 (d) 4

75. ;fn vk¡dM+ksa dk cgqyd 70 o ek/; 100 gS rks

vk¡dM+ksa dk ek/;d eku gksxk&

(a) 70 (b) 30

(c) 90 (d) 100

76. fuEu caVu dk ek/; 5 gS rks P dk eku gksxk&

x 2 4 6 P
f 3 2 1 4

(a) 8 (b) 7

(c) 7.5 (d) 6.5

77. ,d ikls dks ,d ckj mNkyus ij vHkkT;

la[;k vkus dh izkf;drk gS&

(a)
1

3
(b)

1

2

(c)
2

3
(d)

5

3

78. nks iklksa dks ,d lkFk mNkyus ij nksuksa iklksa

ij izkIr la[;kvksa dk ;ksx 9 ;k 12 gksus dh

izkf;drk gksxh&

(a)
1

9
(b)

5

36

(c)
1

6
(d)

7

36

79. ,d flDds dks nks ckj mNkyus ij vf/kd ls

vf/kd ,d iV vkus dh izkf;drk gS&

(a)
2

3
(b)

1

4

(c)
1

2
(d)

3

4

80. ;fn cgqin 2x2 + x + k dk ,d 'kwU;d 3 gS rks

k dk eku gksxk&

(a) 21 (b) 12

(c) -21 (d) -12

74. The mean of first six odd natural numbers:-

(a) 7 (b) 6
(c) 8 (d) 4

75. If the mode of the data is 70 and mean is 100,

then the median of the data will be-

(a) 70 (b) 30

(c) 90 (d) 100
76. If the mean of the following distribution is 5,

then the value of P will be:

x 2 4 6 P
f 3 2 1 4

(a) 8 (b) 7

(c) 7.5 (d) 6.5

77. A dice is thrown once. The probability of

getting a prime number is-

(a)
1

3
(b)

1

2

(c)
2

3
(d)

5

3

78. If two dice are thrown simutaneously, the

probability that the sum of the numbers

obtained on both the dice is 9 or 12 will be-

(a)
1

9
(b)

5

36

(c)
1

6
(d)

7

36

79. The probability of getting at most one tail when

a coin is tossed twice is-

(a)
2

3
(b)

1

4

(c)
1

2
(d)

3

4

80. If the zero of polynomial 2x2 + x + k is 3, then

the value of  k will be:

(a) 21 (b) 12

(c) -21 (d) -12
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81. fgUnh dk igyk vk¡pfyd miU;kl dc izdkf'kr

gqvk FkkA

(a) lu~ 1916 esa (b) lu~ 1926 esa

(c) lu~ 1936 esa (d) lu~ 1906 esa

82. ^ukScr[kkus esa bcknr^ ikB gSA

(a) js[kkfp= (b) vkRedFkk

(c) yfyr fucU/k (d) laLej.k ys[k

83. ^iqjksfgr^ 'kCn esa laf/k gSA

(a) O;atu (b) folxZ

(c) Loj (d) xq.k Loj

84. ^vk¡[k gVk, u gVuk^ eqgkojs dk vFkZ gSA

(a) us=ksa dk eqX/k gks tkuk

(b) fLFkj ns[kuk

(c) iydsa u >iduk

(d) vk¡[ks [kqyh jg tkuk

85. ^egkdfo^ 'kCn esa lekl gSA

(a) vO;;hHkko (b) deZ/kkj;

(c) rRiq#"k (d) }U}

86. ^izR;{k^ 'kCn esa milxZ gSA

(a) izfr (b) iz

(c) ;{k (d) izr~

87. jke vkSj ';ke nksuksa HkkbZ gSA & js[kkafdr 'kCn

esa vO;; in gSaA

(a) lEcU/k cks/kd

(b) leqPp; cks/kd

(c) fØ;k&fo'ks"k.k

(d) fo"e;kfn~ cks/kd

88. eSa D;ksa fy[krk g¡w & ikB ds vk/kkj ij ys[kd

^vKs;^ fdl fo"k; ds dFkkdkj FksA

(a) xf.kr dk (b) foKku dk

(c) fgUnh dk (d) vaxzsth dk

89. ^lkuk&lkuk gkFk tksfM+̂  ^;k=kòrkUr^ ys[k dh

ysf[kdk dh lgsyh ^ef.k^ dh mez fdruh FkhA

(a) 40 o"kZ (b) 30 o"kZ

(c) 20 o"kZ (d) 50 o"kZ

90. lwjnkl fdl jl ds Js"V dfo ekus tkrs FksA

(a) d#.k jl (b) HkfDr jl

(c) okRlY; o Ük̀axkj jl (d) 'kkUr jl

91. He is not here. He ............... to school.

(a) is going (b) was going
(c) goes (d) has gone

92. Ten miles ............... a long way to walk.

(a) is (b) are
(c) am (d) were

93. Sita will write a letter.

(a) A letter would be written by her.
(b) A letter will be written by Sita.
(c) A letter will write by Sita.

(d) A letter would write by Sita.

94. Teacher said,"Honesty is the best policy."

(a) Teacher told that honesty is the best policy.
(b) Teacher said that honesty is the best

policy.
(c) Teacher said that honesty was the best

policy

(d) Teacher said if  honesty is the best policy.

95. I went to Sikar to buy books.

(a) Why do I go to Sikar?
(b) Why did you go to Sikar?
(c) Why does I go to Sikar?
(d) Why did you go to Sikar to buy books?

96. Few students passed the exam, ...............?

(a) did they? (b) didn't they?

(c) do they? (d) don't they?

97. To whom was the letter written?

(a) God (b) Postmaster
(c) Postman (d) Lencho

98. Where was the tea drunk first?

(a) India (b) China

(c) Nepal (d) Europe

99. How many children did Ramlal have?

(a) Three (b) Four

(c) Seven (d) Nine

100. Who is the writer of 'A Question of Trust.'?

(a) James Herriot
(b) K.A. Abbas
(c) Victor Canning
(d) Robert Arthur
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ROUGH WORK
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ROUGH WORK
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